
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Negative Exponenten von 10

−1 × 10 = 10 =(−4)

351, 4 ÷ 10 =(−4) 10 =(−1)

396, 6 ÷ 10 =(−1) 582 ÷ 10 =(−1)

−2 × 10 =(−2) 9 × 10 =

10 =(−3) −1 × 10 =

3 × 10 =2 6 × 10 =2

−3 × 10 =(−3) 766, 9 ÷ 10 =(−4)

6 × 10 =(−2) 101, 4 × 10 =2

10 =(−3) 354, 5 ÷ 10 =(−1)

525, 8 ÷ 10 =2 10 =(−3)
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Negative Exponenten von 10

−1 × 10 = −10 10 = 0.0001(−4)

351, 4 ÷ 10 = 3514000(−4) 10 = 0.1(−1)

396, 6 ÷ 10 = 3966(−1) 582 ÷ 10 = 5820(−1)

−2 × 10 = −0.02(−2) 9 × 10 = 90

10 = 0.001(−3) −1 × 10 = −10

3 × 10 = 3002 6 × 10 = 6002

−3 × 10 = −0.003(−3) 766, 9 ÷ 10 = 7669000(−4)

6 × 10 = 0.06(−2) 101, 4 × 10 = 101402

10 = 0.001(−3) 354, 5 ÷ 10 = 3545(−1)

525, 8 ÷ 10 = 5.2582 10 = 0.001(−3)
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